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10.

114

12.

In case flow statement, cash includes

(a) Cash in hand
(b) Demand deposits with bank

(¢) Cash in hand and demand deposits with
bank

(d) Cash in hand or demand deposit with bank
PART B — (5 x 5 = 25 marks)
Answer ALL questions, choosing either (a) or (b).
Each answer should not exceed 250 words.

(a) Explain the concept of time value of money.
What are the techniques for estimating time

value of money?
) Or
(b) Explain the importance of cost of capital.
(a) What is meant by operating leverage? What
is its significance?
Or

(b) What is the pecking order theory? What are
the implications of pecking order theory?
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13. (a) Explain the capital budgeting process.

Or

(b) Green grocers is deciding among two
mutually exclusive projects. The two projects
have the following cash flows.

Year Project A Project B

Cash flow (Rs.) Cash flow (Rs.)

0 ~50,000 ~50,000
1 15,625 0
2 15,625 0
3 15,625 0
4 15,625 99,500

The company’s cost of capital is 10 percent.
Which should be chosen?

14. (a) You are provided with the following
information of X Co., Ltd.
Cost of capital (k) = 12%
Earnings per share (E) = Rs. 156
Rate of return (r) = 16%

Determine the value of share using Gordon’s
model assuming the dividend pay-out ratio is
80%. )

Or
(b) What is accounts receivable (AR) financing?
What are its benefits?
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What is venture capital? How does venture
capital work?

17:100(8)

Or

®) A firm has an EBIT of ¥ 4,00,000 and
belongs to a risk class of 10% i.e. its overall
cost of capital is 10%. What is the value of
equity capital if it employees 5% debt to the
extend of 30%, 40% or 50% of the total
capital of Rs. 20,00,000? Assume that net
operating income approach applies?

A limited company is considering investing a
project requiring a capital outlay of ¥
- 2,00,000. Forecast for annual income after
depreciation but before tax is as follows.
Depreciation may be taken as 20% on
original cost and taxation at 50% of net

income.
Year 1 2 3 4 5
Income after depreciation

but before tax T

| 18. (a)

1,00,000 1,00,000 80,000 80,000 40,000

You are required to evaluate the project
according to each of the following methods :
(i) Pay-back method (i1) Rate of return on
average investment method (iii) Discounted
cash flow method taking cost of capital as
10% (iv) Internal rate of return method.

Or
(b) What are NPV and IRR? Why does NPV and
IRR conflict and which is better NPV or IRR?
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19.

(a)

(b)

Explain the factors that affect dividend
policy of a firm.

Or

The following information has been extracted
from the records of a company. Product cost
sheet. -

Raw materials T 45
Direct labour 20
Overheads 40
Total 105
Profit 15
Selling prices 120

Raw materials are in stock on an average for
two months. '

@

(i)

(iii)

(iv)

The materials are in process on an
average for one month. The degree of
completion is 50% in respect of all
elements of cost.

Finished goods stock on an average is
for one month.

Time lag in payment of wages and
overheads is 1% weeks. j

Time lag in receipt of proceeds from
debtors is 2 months.
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